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61. Given below are two statements :

Statement I : According to Bohr's model of hydrogen atom, the angular monentum of an electron in a given
stationary state is quantised.

Statement I : The concept of electron in Bohr's orbit, violates the Heisenberg uncertainty principle.

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both Statement I and Statement II are incorrect

(2) Statement I is incorrect but Statement II is correct

(3) Both Statement I and Statement II are correct

(4) Statement I is correct but Statement Il is incorrect

W |1 P T §

S 1 : BISQIO WRAY] & IR Al @ ARY fefl Wil ®efl # Sag = &7 BT FavT Hicad 8 |
FIA 11 : IR BT | SIded I b, Brgoad & AfRaadr Rigid &1 ures =81 &rar 2 |

Suad HUEl @ ded #, T Ry Ty Adeui # 9§ waifs Sugad SR g+ ¢

(1) B 1 Ud e 1 1 Terd 2 |

(2) B [T & U] B 11 HaT © |
(3) Bu 1 vd &I I 31 9el & |
(4) FUT 198 & Ueg D 17701 & |
Question ID:3666943262
Ans. 3

n
Sol.  According to Bohr's model the angular momentum is quantised and equal to P

Heisenberg uncertainty principle explains orbital concept, which is based on probability of finding electron.
62.  Thepossibility of photochemical smog formation will be minimum at

(1) New-Delhi in August (Summer)

(2) Kolkata in October

(3) Srinagar, Jammu and Kasmir in January

(4) Mumbai in May

UBIT — IS HIEX & A7 a1 FHra-r =gAaaq gnfl —
(1) =13 fecel), 3 # (1T &1 )

(2) BN, fdeEay |
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(3) AR, T Ua SR, STl

(4) grag, 7 H
Question ID:3666943271
Ans. 3

Sol.  Srinnagar, Jammu & Kashmir in January photo chemical smog is produced when sunlight reacts with nitrogen
oxides.

NO,(g) > NO, + 0O,
O( +0,—> 03
2 2 (®)

NO + 0, - NO, + O,
63.  The number of P—O—P bondsin H P,O,, (HPO,), and P,O,  are respectively

4277
(1)0,3, 4 (2)1,3,6 (3)0,3,6 4)1,2, 4
H,P.O,, (HPO,), 7@ P,O,, % P— O — P gl & AT A ©
(1)0,3,4 2)1,3,6 (3)0,3,6 4)1,2,4
Question ID:3666943269
Ans. 2
T
Sol.  (1)H,P,0, HOGR & '™ OH P-O-P=1
OH OH
(2) (HPO,), Trimetaphosphoric acid
P
N
o) 0
Ox | | =0 P-0-P=3
/P K
o~ SNo-~ “oH
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O
!
"\
0= P/ 1 \P =0
(3) P,0y 0 0 P-0-P=6
N
|
O
64. The product formed in the following multistep reaction is :
(i) B,H,
(i) H,0,, NaOH
CH,~CH=CH, Gy pec g
(iv) CH,MgBr
(I)H
CH, CH~CH,— CH— CH,
O
® cucn-¢-ocH, (4) CH,~CH,~ CH,~ CH;-OH
oy arfifehan  STg a9 T —
(1) Bsz
(i) H,0,, NaOH
CH, ~CH=CH, Giypee g
(iv) CH,MgBr
(I)H
(b T ®) T
CIH3 CH,—CH,— CH— CH,
O
® cu-cn-C-oc, (4) CH,~CH,~ CH,~ CH;-OH
Question ID:3666943276
Ans. 2
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i) B,H,
CH;CH=CH2-12———+ (CH-CH,—CH - B

(ii)l H,0,, NaOH
o

PCC
CH;CH;{}{«iEQ———-CH;CH;{HL—OH

Sol. (iV)lCHgMgBr
(I)H
CH;~CH,~C ~CH,
H

65.  The major product formed in the Friedel-Craft acylation of chlorobenzene is

cl Cl
al cl
COCH,
CH,
(D) (2) 3) “4) CH,
Y COCH.
o7 “CH, 3 O

o7 CH,

FARIISN & fhed—mae YRIHROT # Jeg T BRI —

Cl Cl
cl Cl
COCH,
CH,
) (2) 3) 4) CH,
o)
COCH
0~ CH, 07 CH, O

Question ID:3666943274
Ans. 3
Cl CH;%—CI Cl
Sol. 0 >
AlCI,
O CH,
(Cl - O/P directing)
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66. Which of the following expressions is correct in case of a CsCl unit cell (edge length 'a') ?

3 _a _a
(1) I'CS+ + rcr =a (2) rcs+ + rcr = Ta (3) I‘Cs+ + I‘Cl’ - E (4) I‘CS+ + rC17 o ﬁ
CsCl gaa diftsdt @ fog, = # 9 eibar aivie 98! 8 (R @t arg 'a’) ?
NG _a _a
(1 Lo + I—2 2) Togr + T~ Ta (3) Toer + L= E (4) Teyr + Lo~ ﬁ
Question ID:3666943261
Ans. 2

Sol.  InCsCICI forms scc lattice while Cs* is present in cubical void so

3a

—+ =
1.CSJr I'Cr

67.  Match List ' with ListII :

List - (Monomer) List IT— (Polymer)
(A) Tetrafluoroethene (I) Orlon

(B) Acrylonitrile (I) Natural rubbler
(C) Caprolactam (1IT) Teflon

(D) Isoprene (IV) Nylon-6

Choose the correct answer from the options given below :
(1) (A) -(V), (B)~(1), (C)-(1I), (D)-(III) (2) (A) -(IID), (B)-(IV), (C)-(ID), (D)~(I)
(3) (A) -(I), (B)-(1II), (C)-(IV), (D)~(I) (4 (A) -(1D), (B)-(1), (C)-(IV), (D)~(II)

Al [ g 1A Al o —

List I - (Vdetd) List IT— (sgcTd)
(A) TITFART HAT (I) 3IRa=

(B) Ufsheiirsfeet (ID) TP &R
(C) BueraeH (IIT) STt

(D) g (V) g - 6
A faU 7T A | HE BT AT BRI —

(1) (A) -(AV), (B)~(I), (C)-(ID), (D)-(I1I) (2) (A) -(10), (B)-(IV), (C)-(II), (D)~(I)
(3) (A) -(ID), (B)-(III), (C)-(1V), (D)~(I) (4) (A) -(ID), (B)~(D), (C)-(1V), (D)-(II)
Question ID:3666943278
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Ans.

Sol.

68.

4
N / % t;
c=C — {C-C
Y | 1'n
f f
Tetra Fluoroethene Teflon
CN CN
| |
H,C=CH — {CH,—CH%}
Acrylonitrile Orlon n

f

0)

0]
@ -n > {‘Hzc —(H,C), _g -NH )_1’1

Caprolactum Nylon - 6

H,C
\
C=C
/ \
7N {CH, CH, }
n

Isoprene Natural rubber

Which one of the following is not an example of calcination ?
(1) 2PbS +30, 4 4, 2PbO + 280,

(2) CaCO, - MgCO, —2 5 Ca0 + MgO + 2CO,

(3) Fe,0, - xH,O0 2 4Fe O, +xH,0

(4) CaCO, 2 ,Ca0 + CO,

=1 3 1 B9 AT PT Uh IaTERYT TE 87

(1) 2PbS +30, 2 4, 2PbO + 280,

(2) CaCO, - MgCO, 2 ,Ca0 +MgO + 2CO,

(3) Fe,0, - xH,O 2 yFe O, +xH,0

(4) CaCO, 2 ,Ca0O + CO,

Question ID:3666943265

Ans.

Sol.

1

Calcination is the process in which the are of the metal is heated to high tempr in the absence or limited supple

of air or oxygen. Anhydrous iron is formed doring iron calcination.
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Fe,0,. XH,0 _4 , Fe,0, + XH,0

69.  Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion (A) : BeCl, and MgCl, produce characteristic flame
Reason (R) : The excitation energy is high in BeCl, and MgCl,
In the light of the above statements, choose the correct answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true
A <1 wF fRY T 7, Th BI AMEBAT A Td SR BT BROT R $aT T 2 |
3o (A) : BeCl, vd MgCl, @leifore Sarell Sed=1 v 8 |
&R (R) : BeCl, td MgCL ¥ SIS 8¢ SoH &l Al e 2 |
S et @ T H, e v T fwedt # 9§ e IR g
(1) (A) Td (R) <1 &Y 8 T27 (A) @) |81 T (R) & |
(2) (A) Td (R) <1 W&T 8 @1 (A) @ |8 et (R) 781 2 |

(3) (A) FE & 7= (R) TTerdl B |
(4) (A) TId & R (R) &1 2 |
Question ID:3666943267
Ans. 4

Sol.  Be & Mg have abnormally small size when compared to ather alkali metals. Due to this, electrons in the atom
are tightly hold & thus, they have high Ionisation energy. Hence, Be & Mg do not undergo transition and don't
impart characterstic colour to the flame.

70.  The complex with highest magnitude of crystal field splitting energy (A,) is

(1) [Fe(OH,) J** (2) [Cr(OH) J* (3) [Ti(OH,)J** (4) [Mn(OH,) J**
fopeed & fared ul (A,) & Ieads uRHTT ardl dahe 8 —
(1) [Fe(OH,) J** (2) [Cr(OH) J* (3) [Ti(OH,)J** (4) [Mn(OH,) J**
Question ID:3666943270
Ans. 2

Sol. (1) [Fe(H,0)J*
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Fe*" =3d°
CFSE=0
2) [Cx(H,0), ]
Cr =3d°
CFSE=1.2
(3) [Ti(H,0),J*
Ti*=3d!
CFSE=-0.4
(4) [Kn(H,0),J"
Mn** = 3d*
CFSE =-0.6
71.  Foragood quality cement, the ratio of silica to alumina is found to be
(12 (2)4.5 3) 1.5 43
U sl urddl arell e & fore Riferedr g wgfem &1 srqurd giar 8
(D)2 (2)4.5 3)1.5 43
Question ID:3666943268
Ans. 4

Sol.  The ratio should be between 2.5 to 4 so answer =3

72.  Decreasing order of reactivity towards electrophilic substitution for the following compounds is :

CH, @ OCH,  NMe,

(a) (b) (c) (d) (e)

(1)d>a>e>c>b (2)c>b>a>d>e ((B)a>d>e>b>c (4)e>d>a>b>c

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixeduw.in ; Email : smd@matrixacademy.co.in

Page No. 9




n M ATRIX Question Paper With Text Solution (Chemistry)
JEE Main April 2023 | 15 April Shift-1

fore T v DT BT seldei= el ufiaRenus arfifshar & i fohameiierar & ged wa H aaRerd &l —

CH, @ OCH,  NMe,

(a) (b) (c) (d) (e)

()d>a>e>c>b (2)c>b>a>d>e ((B)a>d>e>b>c (4)e>d>a>b>c
Question ID:3666943273
Ans. 4
Sol.  More e - density in benzene ring more will electrophilic substitution.

so e - density order

00 ook

73. Consider the following sequence of reactions :

@\ NaNO, " N, N-Dimethylanilne B’
NH, 0-5°C

The product 'B'is

CH
e
OO
(1) \CH,
CH
/ 3
atas
2) \CH3
CH
N—N
WOy

H H
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) @ |

CH, CH,
=1 arfafhar wr faar a1 —

@\ NaNO, - A N, N-Dimethylanilne .
NH, 0-5°C

The product 'B'is

Question ID:3666943277
Ans. 1
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74.

Consider the following statements :
(A) NF, molecule has a trigonal planar structure.
(B) Bond length of N, is shorter than O,.

(C) Isoelectronic molecules or ions have identical bond order.

(D) Dipole moment of H,S is higher than that of water molecule.

Choose the correct answer from the options given below :

(1) (B) and (C) are correct

(2) (C) and (D) are correct

(3) (A) and (B) are correct

(4) (A) and (D) are correct

T U peFl R faar HIR -

(A) NF, 319] eI Fociell WReT Xl 2 |

(B)N, @ 4 @wa1s O, B! oIl # BT 2 |

(C) AASIIZING JURIT 3R RAT &7 g ATder FHE BT 2 |
(D) H,S 1 fgga — ameet H,0 319 &1 e ¥ sareT gl 2 |
QU ¢ FoFl § W e BUAT BT T N —
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(1) (B) v (C) W&l & |
(2)(C)Td (D) wE B |
(3)(A) v (B) wdl & |
(4) (A) td (D) w1 & |
Question ID:3666943263
Ans. 1
So. N,—>N=N Bond order =3
0,-0=0 Bond order =2
Bond length=0,>N,
— Isoelectronic have Identical bond order
75. Which is not true for arginine ?
(1) It has a fairly high melting point.
(2) It has high solubility in benzene.
(3) Itis acrystalline solid.
(4) It is associated with more than one pK values.
TSI & forg wer =181 & ?
(1) BT TeAid fdvg BT Sed BT 2 |

(2) 519 # g Fod Gerefierdr & |

(3) I8 U fohecaily 34 2 |

(4) I8 T W AfRp pK AHI A ST € |
Question ID:3666943279
Ans. 2

@
NH, [
AN ¢
NH,

Arginine exist is zwitterion, so solid in nature and soluble in polar solvent.

76.  Which of the following statement is correct for paper chromatography ?
(1) Water present in the mobile phase gets absorbed by the paper which then forms the stationary phase.
(2) Paper sheet forms the stationary phase.
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(3) Water present in the pores of the paper forms the stationary phase.

(4) Paper and water present in its pores together form the stationary phase.
YR HICRI] (G dvieled) & ded # /1 # 9 39 a1 %99 9 27
(1) fcreiier grawen # SuRerd Siel &1 YUR gRT Sraeifya fhar Siar 2, S 3@ Rer yrawen &l & &l 2 |
(2) TR ¥fic ReR YR BT BRI BT & |

(3) YR & &l # IURYT STl ReR Yrawell &1 HRI el & |

(4) YR vd IS fral 9 IuRed ST ReR UTaRer &l &1 vl = |

Question ID:3666943280
Ans. 3
Sol.

77.

Ans.

Sol.

In paper chromatography, a special quality paper known as shromatography paper is used. Paper contains

water trapped in it, which acts as the stationary phase.

During water-gas shift reaction

(1) carbon monoxide is oxidized to carbon dioxide.

(2) carbon dioxide is reduced to carbon monoxide.

(3) carbon is oxidized to carbon monoxide.

(4) water is evaporated in presence of catalyst.

STel — 9 RRIFIARYT (water-gas) Tffshar & SR

(1) BT AFRTFRITES BT BATSSIIRITES H SMARITHIT BIdT © |
(2) BIETSISINFATES BT BETHHRNRITSS H A=A BT © |
(3) BT BT HETAFRITRITES # ifa=fimor grar 2 |

(4) SIR® BT IuRAfY # STet, Iy 8 STl 2 |

Question ID:3666943266

1

Water gas shift reaction

CO+H,0 —» CO,+H,
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CH, COOH
Br

78.
NO, Cl

In the above conversion the correct sequence of reagents to be added is
(1) (i) Fe/H", (ii) HONO, (iii) CuCl, (iv) KMnO,, (v) Br,

(2) 1)) KMnO,, (ii) Br /Fe, (iii) Fe/H", (iv) CL,

(3) (@) Br,/Fe, (ii) Fe/H", (iii) KMnO,, (iv) CL,

(4) (i) Br/Fe, (ii) Fe/H", (iii) HONO, (iv) CuCl, (v) KMnO,

CH, COOH
Br

NO, Cl

W ¢ 7¢ aRqcH 3 sifmHeT &I |8l sl & —
(1) (i) Fe/H", (i) HONO, (iii) CuCl, (iv) KMnO,, (v) Br,
(2) (i) KMnO,, (ii) Br /Fe, (iii) Fe/H", (iv) Cl,
(3) ) Br,/Fe, (ii) Fe/H", (iii) KMnO,, (iv) CL,
(4) (@) Br/Fe, (i) Fe/H", (iii) HONO, (iv) CuCl, (v) KMnO,
Question ID:3666943275
Ans. 4
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CH,
FelH
Br2
NO,

lHONO
COOH
Br
©/ KMNO, ©/ CuCl ©/
0]
H,O
O , .A’
79. .
major product
0]
'A' formed in the above reaction is
OH OH
0]
(D
OH
2 OH
0]
OH
OH
3)
0]
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OH
O
4
OH
0)
H,O
0O — ‘A
major product
0)
arfafsrar # 'A'® —
OH OH
0)
(1
0]
OH
2) OH
0]
OH
OH
(3) ©(>
0)
OH
O
4) ©<>
OH
Question ID:3666943272
Ans. 2
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Sol.

80.

% /\ Q- I|{
PRLEESIN O
¢ :

0] O—-H

Which of the following statement(s) is/are correct?
(A) The pH of 1 x 103 M HCl solution is 8.

(B) The conjugate base of H PO, is HPO; .
(C)K,, increases with increase in temperature.

(D) When a solution of a weak monoprotic acid is titrated against a strong base at half neutralisation point, pH

1
_2p "

Choose the correct answer from the options given below :

(D (A). (D) (2)(B).(O), (D) (3) (A). (B).(C) 4 ®B). (O

frferfaa # & @19 A1/9 HoF w8 /8 ?

(A) 1 x 108 M HCI faera= &1 pH8 & |

(B) HPO? &1 wg=l &k H,PO, B |

(O) K, o ¥ gl & wref del & |

(D) 19 Udh HHSIR YhHUICH F & fITa BT U Udel &R & Tef AT fohar SIram 2, a7 org SeriE

fag ) pH = %pKa.
N Ry T fwan § J w9 IR A
(1) (A), (D) (2) (B), (C). (D) (3) (A).(B), (C) 4 (B), (C)

Question ID:3666943264

Ans.

Sol.

4
(A) 10 M HCl solution is very diluted so pH will be approx 6.99
(B) H,PO,” — HPO,* + H"
Acid conjugated buse
(C) Kw increase with increase in temp.
(D) At half neutralisation point best buffer will forms and
pH = pKa
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81.  Thetotal change in the oxidation state of manganese involved in the reaction of KMnO, and potassium iodide
in the acidic medium is R
KMnO, Td tieRem Sudisigs ol sififhar (@mwlia dream #) § wnffier #uiier @1 siferiienror srawer # gel
aRed 8 .
Question ID:3666943288
Ans. 5
Sol. ~ MnO, +I —> Mn" +1[,
Total change in oxidation no. of Mn is 5.
82.  The volume (inmL) of 0.1 M AgNO, required for complete precipitation of chloride ions present in 20 mL of
0.01 M solution of [Cr(H,0),CI]Cl, as silver chloride is
[Cr(H,0).CIICL @ 0.1 M 920 mL fdere # SuRerd wiRigs 3l & Ricdy wilRigs & w4 H, 3deiavl &
ferg 0.1 M AgNO, & SRIH 1 3Tadehe BT (mL #)
Question ID:3666943281
Ans. 4
Sol.  [Cr(H,0),CI|Cl, +2AgNO,—— [Cr(H,0),CI|(NO,), + 2AgCl
Given 20ml 0.1M
0.01 M Vml
Miligm eq. of [Cr(H,0),CI]Cl, = miligm eq. of AgNO,
0.01x2x20=0.1 x1x Vml
Vml=4ml
83.  The vapour pressure of 30% (w/v) aqueous solution of glucose is mm Hg at 25°C.
[Given : The density of 30% (w/v), aqueous solution of glucose is 1.2 g cm™ and vapour pressure o fpure
water is 24 mm Hg. |
(Molar mass of glucose is 180g mol™)
DI B 30% (W/V) ST faeas &1 9T <19 7 mm Hg at 25°C.
[fe=am /=T 2 30% (W/V), TDIST @& STl f[aad+ &7 g9cd 1.2 g cm™>Ud g STl $I ars &9 24 mm Hg]
(T[Tt BT HIeR g 180g mol ™)
Question ID:3666943283
Ans. 23
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Sol.  RLVP=X_ ..
30% % glucose \=30 gm glucose dissolved in 100 ml solution
mass of solution=1.2 x 100 =120g
mass of water = 120 — 30 = 90g
Moles of glucose = 180 = é
Moles of water = ITH 5
_ 1
gcose 3]
P-P 1
p; 31
24-Ps_ 1
24 31
744 —31Ps =24
Ps=23.22
84.  ForareversiblereactionA — B,the AH, . =20kJmol". Theactivation energy of the uncatalysed
forward reaction is 300 kJ mol'. When the reaction is catalysed keeping the reactant concentration same, the
rate of the catalysed forward reaction at 27°C is found to be same as that of the uncatalysed reaction at 327°C.
The activation energy of the catalysed backward reaction is kJ mol™'.
ShHU AAfhAT A = B® forg, AH, . =20kJ mol ! 3ciRa 3rr aifdfspar &1 wfebaor i 300
kJ mol™! 8 | 3if¥dRe Higdl BT THM W gU Sfd AMfhAT BT IART B Siar 8, 27°C W= 07 Afdfhar
@ TR 327°C WR NI AfAfhar & &= & |AE T Bt 7 | SAURT v ifwfhar & wfosaor ot @
kJ mol™!
Question ID:3666943285
Ans. 130
Sol.  E,=300kJmol"
T T

(Since rate of catalysed and uncatalysed reaction is same)
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300 _Fyp

600 300

E' =150

20=150-E'

E' =130
85.  The homoleptic and octahedral complex of Co** and H,O has unpaired electron(s) in the t,, set

of orbitals.

Co? 3R H,0 & gMicifics 3iR <ol Agel H YA Selagle t, FeIdT § v B |
Question ID:3666943289
Ans. 1
Sol.  [Co(H,0),]*

Co* =3d’

1|1 eg
TLLf T <
LI T 6,

86.  30.4klJ ofheatis required to melt one mole of sodium chloride and the entropy change at the melting point is

28.4 J K-''mol ! at 1 atm. The melting point of sodium chloride is K (Nearest Integer)

AT TARISS & Th Al DI g™ & forg 30.4 kI ST &) magdadhal il 8 3R 1 atm R e fig

W Ui # gRacd 28.4 J K mol ! 8 | WIfSTH FARISS & TaId g 8 K (e qurie)
Question ID:3666943282
Ans. 1070
Sol. ~ NaCl  — NaCl  ; AH=30.4kg

AS = e

T
_ 30.4x1000 _ 1070.4 K
28.4

87.  20mLof0.5 M NaClisrequired to coagualte 200 mL of As,S, solution in 2 hours. The coagulating value of

NaClis
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0.5 M NaCl & 20 mL @ afraeaeadr 200 mL As,S, & 2 €< # Whad @ oY 8Kil & | NaCl &1 whad 7
e
Question ID:3666943286
Ans. 50

Sol.  Requared concentration of electerolyte in mili moles perliter to coagulate any sol is coagulation value.

20 x 0.5 mili moles NaCl is required for 200 ml for 1 liter 500 mili moles will required.

88.  Thetotal number ofisoelectronic species from the given set is
O*, F, AL, Mg, Na*, O*, Mg, AI**, F
feu Y Ae # FHsdaING gonfad @ go dwen =
O*, F, AL, Mg, Na*, O*, Mg, AI**, F

Question ID:3666943287

Ans. 5

Sol.  O72 F,Mg" Na', Al"* are isoelectronic
10e-, 10e, 10e~, 10e~, 10e”

89.  InChromyl chloride, the oxidation state of chromium is (+)

DA TARTSS H DI B SATRIBROT A=A (+) 2l
Question ID:3666943290
Ans. 6
Sol.  CrO,Cl,
0
Cl— (lir —Cl
0

Oxidation no. of Cris +6
90.  Thenumber of correct statements from the following is
(A) Conductivity always decreases with decrease in concentration for both strong and weak electrolytes.
(B) The number of ions per unit volume that carry current in a solution increases on dilution.
(C) Molar conductivity increases with decrease in concentration.
(D) The variation in molar conductivity is different for strong and weak electrolytes.

(E) For weak electrolytes, the change in molar conductivity with dilution is due to decrease in degrr of dissociation.

fereiferRad & & wel el @ dear 8
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(A) Ygdt U9 gdol fagfasmecy aMi & foly, |igdl # &l & |1 ATetddl g¢ Skl & |

(B) TEHROT &R R U e § T yarfad & arell Ui P18 SMId # 3MI+l &1 6&dT 9¢ oIl 2 |
(C) AIeR aTaidar digal § & & AT 9l & |

(D) vae vd gdar fagd smvecal & forg Aiek areiddT 3§ AT 37T 7 |

(E) BoiR faga sraecal & forg, rgd<ol &-e WR Aok dTeidhdl # URadd faare & a1 # Bl & HRop
I B |

Question ID:3666943284
Ans. 3
Sol.  (A)conductivity (k) always decreases with increase in dilution for both strong and weak electrolyte

(C) An Increases with increase in dilution

(D) The variation in molar conductivity is different for strong and weak electrolyte.
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